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Logistics 

•
•

•
•

https://www.cs.umb.edu/~stchang/cs450/f24 



• 2htdp/image

• in-class-09-11-<Lastname>-<Firstname>.rkt 

https://github.com/orgs/cs450f24/teams/in-class 

https://github.com/cs450f24/in-class-09-11 
• merge  pull + rebase  

push

https://github.com/orgs/cs450f24/teams/in-class
https://github.com/orgs/cs450f24/teams/in-class
https://github.com/orgs/cs450f24/teams/in-class
https://github.com/orgs/cs450f24/teams/in-class


• define 
•
• (define (fn-name arg1 arg2)  
    … body-expression …) 

• (define var-name expression) 

 

• lambda 
•
•
• ((lambda (x) (+ x 1)) 10) 
• ((lambda (f) (f f)) (lambda (f) (f f))) 

•
•



• define
• main

•
•





;; A TempC is an Integer 
;; It represents a 
temperature in degrees Celsius 

;; A  is an Integer 
;; It represents a temperature 
in degrees Fahrenheit 

;; A  is an non-negative Integer 
;; It represents a temperature 
in degrees Kelvin 



•
•

•





•
•
•

•

;; c2f: TempC -> TempF 
;; Converts a Celsius temperature to Fahrenheit 

(check-equal? (c2f 0) 32) 
(check-equal? (c2f 100) 212) 
(check-equal? (c2f -40) -40) 

(define (c2f ctemp) 
    (+ (/ (* ctemp 9) 5) 32)) 

(check-equal? (c2f 1) (+ (/ 9 5) 32)) 

;; A TempC is an Integer 
;; represents a temp in degrees Celsius 
;; A  is an Integer 
;; represents a temp in degrees Fahrenheit 



•
•
•

•

;; c2f: TempC -> TempF 
;; Converts a Celsius temperature to Fahrenheit 

(check-equal? (c2f 0) 32) 
(check-equal? (c2f 100) 212) 
(check-equal? (c2f -40) -40) 

(define (c2f ctemp) 
    (+ (/ (* ctemp 9) 5) 32)) 

(check-equal? (c2f 1) (+ (/ 9 5) 32)) 

;; A TempC is an Integer 
;; represents a temp in degrees Celsius 
;; A  is an Integer 
;; represents a temp in degrees Fahrenheit 

Rational 



•
•
•

•





big-bang

• big-bang 
•

•

•

•
•

•

•

(require 2htdp/universe)

;; A WorldState is a non-negative integer 
;; represents the y coordinate of a 
ball in a big-bang animation 



Interlude: htdp universe 
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big-bang

• big-bang 
•

•

•

•
•

•

•

(require 2htdp/universe)

;; A WorldState is a non-negative integer 
;; represents the y coordinate of a 
ball in an animation 




